F3[E AGARZFERE - FFEEILT7N—T7KRE g
5T
NEAZ K % FRE-FF | 1 2 3 4 5 6 7 8 9 a
1 TH 5B BIRAES1F| 6 5 3 5 6 3 6 4 8 46
2 mwt = a1 FE| 7 5 4 4 7 3 6 5 7 48
3 TBiEE= MlEgs 1 E| 6 6 3 5 7 6 4 6 5 48
4 FaATE L BITXRZES1FE| 8 5 4 5 6 5 5 5 8 51
4 BAEMN wEETIEABTIE| 8 6 4 4 7 3 6 6 7 51
6 IINREE RS 1| 7 5 5 5 10 3 6 5 7 53
7 ANTET LRATWR3IE| 8 4 5 5 4 7 8 7 55
7 RTHI-T VR |BEETIRER2E| 6 5 6 5 7 5 6 8 7 55
9 AR BEHIEAST2E[ 6 8 4 7 10 6 8 4 7 60
10 TEFHHR -t BFER=ZAS2F| 7 6 5 8 10 6 7 7 8 64
10 FaAt Th R MEREm L FE| 8 8 6 8 8 4 7 7 8 64
12 RIS RIS BIRAES2F| 7 6 6 5 10 6 8 8 10 66
13 WA= FER=ZAS2F| 8 8 6 8 10 6 8 6 7 67
14 IKEFTT FEAR=ZAI=S2F| 8 5 6 8 10 5 8 8 10 68
15 REREIR BIXLES2F| 7 8 6 8 10 6 8 8 8 69
16 BAPL BFEAR=ZAS2F| 8 8 6 6 10 6 8 8 10 70
17 HREE=E =Am2% 8 8 6 8 10 6 8 8 10 72
17 ARFH REHIIREF2E| 8 8 6 8 10 6 8 8 10 72
i F
B K % Bgg-gE| 1| 2| 3| 4|56 | 78| 9] 3
1 KEFHE EEFR1F 5 8 3 4 7 3 6 4 7 47
2 REIRFNE TR 2F 7 7 4 5 7 5 5 6 7 53
3 RER REFR2F 8 6 4 7 7 3 6 6 7 54
4 TEHEER T BEHR2F 8 8 6 8 8 4 8 5 6 61




